
q{{|'{ qt{(trf,d lole_lol8 rtrqlt
atffi-r r{TEpttq-{ E-ecs fr{RE qmnrlEt <rs<rrfl-F{ {tE-{ q$'iE der<q-{

<f€-{lT{sfil eUfrFd {fT:- U,lIq-{t T{<Er rFtfr6r.r, uffi, <mtQl {k{d aH : qrBlllt /totrr Rs

@a

5

ts.5.5l aFn R-++q gfiwr.t<rt$ra ETFf,{{ aftc'fft< ql?m

\. t:.:.{ fr<+t qr<tr ffifs
t5.5.el qEE6taxm lffi at0s

B

T:fuEIr-{ Tn+

t5.t.51ry{Hrl"t}r+<*rlrasl-x-T:fi ({l.n.tG-rc(T$)

a" t5.t.tl rq<l-s l('6r+{ {t$rr sl-x-T:fi(qrn. feo$RED

\L. n. :.:l <Iscko F-ffi +fcqst-< r(TGs

1.

t

tl.s.lt qolrfo< qfr&-{ qrq+I'fi? stfr$t c($GE

ts. tt.s.e I {rudl T{<|{ cfr& Wr
b.

50.

h.l.sl +trfo< qr<l-{ IFG< ffitt l-ffcr+{ EIT

55.

h.r.rt w<mrfrfr'fRnfu

5i.
ll. l.,r t d:fo< cFFd F-{Dq w{ts-'rlgrg{q TfrE "6{

't.m {fr&

5e.

lt.\at +-nfo< qfrs< <rfrs fu< fr-<<fr aft frFus q<q

58.

h.\ct frfrs't c-flfis qFG< qG,e:r qTrflqg

5C.

li.l.rul ,!Gec {t qs{t Tir"{t{r ffie< R1m qi{rfl <r<ut 'lAE

5\b.

tr.l.ql frfiI'I eGr<r+ der<T.{ qrflr{IF{r rg <i<qt IQs

I>IIS

F{"IfuW

qT:F

5C.

[{\v] Filct r<rtt{fr a&i<q-{ nPrq

E;T'lfuIgs

5ts.

tt.e.5l FAE f ftstqlTfs

q-{ qq{
8

5b.

t\.e.\l rml.t Udr{ qq-RE qtqtryo

ITtr

ETTT]EI

.lo.

qTE

[e.s.s] ElTrcrl gFrq'"i q{frg 1"mqRett

%

t5.

Efk{

[.r.l.s] qt€x rr<lR fd$ll-Td qai Trqrq-qc' emE

%

o.oooogA

a

q{ q5F

{<, )61'l
q{G e tmrefu <rrul oRr{{ s-{ c$<"t T-{I Erdfll

srR{

[,:.r:.sl dfttfiff caRs 1"m<7qRql)

fiqs ${ ?ais

qq{

os I 6qfl rr<l{ qfrcl{,<Iq-fiQ t

q{ qTF

CTE

FT'IFqgo

bo

stR{

bo

o.ooooiU

EIR"I

lTE

\b

FT'Ireiw

o.oooo5\)

<6flT Tl(r
els'l-l

r<$t

F5ITNYO

e5/ob./'\ole

sT"lRqg

es/oblQoie

%

E{'lfuYs

{<?[l

q

<6qtiq nlq'Ffs q6{

/effE qrfi

ts

%

5oo% (b6')

CTE

Qe/oqlQole

8

o/o

i\b/oqlQole

CTTB

s{"jfuW

o/o

8o

bG (tt)

FTel[roTEs

o/
/at

o

8b (bc)

b"

o/o

bG (5oo7o;

CTE

o

{<?lll

FT"lfu-"sg

h,d'(5oo%)

q6-{{r

5C'

sT{tugs

o/o

bG (5oo%)

o/o

t

bG (boolo)

b-

8b

q-{

oo/o

q8 (Q8boo)

Qe/oqllol\e

oV

8

o/o

oo/o

C8 (18b\L)

Q\b/oqlioie

o

oo/o

:-5b/5oiQole RI:

ta%

5oo

5b-

ta%

o5

Q.8boo

o8

85

5ooo/o

QC,

18b\b

5G

\ooo/o

tc'

\ooo/o

t

oC

8E

o5

8e%

ey%

\oo/o

o

\ooo/o

le

ts%

Q8boo

I

oo/o

q8ts\b

oo/o

QG

Q8%

o5

\ooo1o

\ooo/o

t

QC%

Dt{StE<Iq-[A

5ooo/o

Yo/o


